UNDERGRADUATE PROGRAM 2017-18 ACADEMIC YEAR WINTER QUARTER 2018 Effective January 29, 2018

	FULL TIME STUDENTS				P	ART TIME	STUDENTS		TOTAL STUDENTS			
	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	FTE	
SCU Degree Students												
First-Years												
Arts & Sciences	725	12,163.25	16.78	725	0	0.00	0.00	0.00	725	12,163.25	725.00	
Business	418	6,840.25	16.36	418	0	0.00	0.00	0.00	418	6,840.25	418.00	
Engineering	251	4,568.50	18.20	251	0	0.00	0.00	0.00	251	4,568.50	251.00	
Total - First-years	1,394	23,572.00	16.91	1,394	0	0.00	0.00	0.00	1,394	23,572.00	1,394.00	
Transfer Students												
Arts & Sciences	102	1,713.25	16.80	102	2	18.00	9.00	1.50	104	1,731.25	103.50	
Business	48	823.00	17.15	48	0	0.00	0.00	0.00	48	823.00	48.00	
Engineering	20	348.00	17.40	20	0	0.00	0.00	0.00	20	348.00	20.00	
Total - Transfer Students	170	2,884.25	16.97	170	2	18.00	9.00	1.50	172	2,902.25	171.50	
Continuing Students - Main Campus												
Arts & Sciences	1,975	34,781.25	17.61	1,975	75	665.50	8.87	55.46	2,050	35,446.75	2,030.46	
Business	1,023	18,118.25	17.71	1,023	21	194.00	9.24	16.17	1,044	18,312.25	1,039.17	
Engineering	687	12,100.75	17.61	687	20	167.00	8.35	13.92	707	12,267.75	700.92	
Total - Continuing Students - Main Campus	3,685	65,000.25	17.64	3,685	116	1,026.50	8.85	85.54	3,801	66,026.75	3,770.54	
Continuing Students - External Study												
Arts & Sciences	7	133.00	19.00	7	0	0.00	0.00	0.00	7	133.00	7.00	
Business	5	95.00	19.00	5	0	0.00	0.00	0.00	5	95.00	5.00	
Engineering	1	19.00	19.00	1	0	0.00	0.00	0.00	1	19.00	1.00	
Total - Continuing Students - External Study	13	247.00	19.00	13	0	0.00	0.00	0.00	13	247.00	13.00	
Total SCU Degree Students												
Arts & Sciences	2,809	48,790.75	17.37	2,809	77	683.50	8.88	56.96	2,886	49,474.25	2,865.96	
Business	1,494	25,876.50	17.32	1,494	21	194.00	9.24	16.17	1,515	26,070.50	1,510.17	
Engineering	959	17,036.25	17.76	959	20	167.00	8.35	13.92	979	17,203.25	972.92	
Total - SCU Degree Students	5,262	91,703.50	17.43	5,262	118	1,044.50	8.85	87.04	5,380	92,748.00	5,349.04	
Non Degree Students												
Main Campus	0	0.00	0.00	0	2	9.00	4.50	0.75	2	9.00	0.75	
External Study	0	0.00	0.00	0		0.00	0.00	0.00		0.00	0.00	
Exchange Programs	9	131.00	14.56	9 9	0	0.00	0.00	0.00	9	131.00	9.00	
Total - Non Degree Students	9	131.00	14.56	9	2	9.00	4.50	0.75	11	140.00	9.75	
Total - Undergraduate Students	5,271	91,834.50	17.42	5,271	120	1,053.50	8.78	87.79	5,391	92,888.00	5,358.79	

1. SCU degree students include students admitted to the undergraduate degree program.

2. Freshmen include first time degree students initially enrolling at SCU in fall, winter, or spring term.

3. Transfer students include students with academic credit from another college initially enrolling at SCU in fall, winter, or spring terms.

4. Student full-time equivalency (FTE) is based on 12 units in the undergraduate program.

UNDERGRADUATE PROGRAM - EXTERNAL STUDY 2017-18 ACADEMIC YEAR WINTER QUARTER 2018 Effective January 29, 2018

	F	ULL TIME	STUDENTS		PA	RT TIME	STUDENTS		TOTAL STUDENTS			
	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	FTI	
SCU Degree Students												
Arts & Sciences												
Affiliated Programs - Tier 1	7	133.00	19.00	7	0	0.00	0.00	0.00	7	133.00	Î	
Total - Arts & Sciences	7	133.00	19.00	7	0	0.00	0.00	0.00	7	133.00		
Leavey School of Business												
Affiliated Programs - Tier 1	4	76.00	19.00	4	0	0.00	0.00	0.00	4	76.00	2	
Exchange Programs	1	19.00	19.00	1	0	0.00	0.00	0.00	1	0.00	(
Total - Leavey School of Business	5	95.00	19.00	5	0	0.00	0.00	0.00	5	76.00	4	
School of Engineering				<u> </u>								
Oxford Honors Program	1	19	19	1	0	0.00	0.00	0.00	1	19.00		
Total - School of Engineering	1	19	19	1	0	0.00	0.00	0.00	1	19.00	1	
Total SCU Degree Students												
Affiliated Programs - Tier 1	11	209	0	11	0	0.00	0.00	0.00	11	209.00	1	
Oxford Honors Program	1	19	19	1	0	0.00	0.00	0.00	1	19.00		
Exchange Programs	1	19	19	1	0	0.00	0.00	0.00	1	19.00		
Total - SCU Degree Students	13	247.00	19.00	13	0	0.00	0.00	0.00	13	247.00	1.	
Total - Undergraduate Students	13	247	19	13	0	0	0.00	0	13	247	13	

1. Registration in undergraduate external study programs is initially set at 19 units for all students and adjusted to actual units earned upon completion of the program.

2. If a student enrolled in an external study program is also enrolled in an ROTC course, the initial number of units for that student will be greater than 19.

GRADUATE PROGRAMS 2017-18 ACADEMIC YEAR WINTER QUARTER 2018 Effective January 29, 2018

	I	FULL TIME STUDENTS					STUDENTS	TOTAL STUDENTS			
	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	FTE
College of Arts & Sciences											
Pastoral Ministries (M.A.)	10	80.00	8.00	10.00	41	164.00	4.00	20.50	51	244.00	30.50
Pastoral Ministries Distance Learning (M.A.)	4	32.00	8.00	4.00	19	76.00	4.00	9.50	23	108.00	13.50
Non Degree - Pastoral Ministries	0	0.00	0.00	0.00	7	28.00	4.00	3.50	7	28.00	3.50
Total - College of Arts & Sciences	14	112.00	8.00	14.00	67	268.00	4.00	33.50	81	380.00	47.50
Leavey School of Business											
JD/MBA Combined Degree	3	29.00	9.67	3.22	9	62.00	6.89	6.89	12	91.00	10.11
JD/MSIS Combined Degree	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00
Accelerated MBA (AMBA)	7	72.00	10.29	8.00	1	3.00	3.00	0.33	8	75.00	8.33
Executive MBA (EMBA)	21		14.00	21.00	0	0.00	0.00	0.00	21	294.00	21.00
Master of Business Administration (M.B.A.)	55	561.00	10.20	62.33	271	1,759.00	6.49	195.44	326	2,320.00	257.78
Master of Business Administration On-line (M.B.A.)	14	168.00	12.00	18.67	2	12.00	6.00	1.33	16	180.00	20.00
Master of Science - Information Systems (M.S.I.S.)	105	958.00	9.12	106.44	21	109.00	5.19	12.11	126	1,067.00	118.56
Master of Science - Business Analytics	54	486.00	9.00	54.00	11	66.00	6.00	7.33	65	552.00	61.33
Master of Science - Finance	21	243.00	11.57	27.00	2	12.00	6.00	1.33	23	255.00	28.33
Master of Science - Supply Chain Mgmt & Analytics	9	81.00	9.00	9.00	0	0.00	0.00	0.00	9	81.00	9.00
Non Degree - Business	0	0.00	0.00	0.00	1	3.00	3.00	0.33	1	3.00	0.33
Post Baccalaureate CAAP	69	828.00	12.00	69.00	0	0.00	0.00	0.00	69	828.00	69.00
Total - Leavey School of Business	358	3,720.00	10.39	378.67	318	2026.00	6.37	225.11	676	5746.00	603.78
School of Engineering											
Doctor of Philosophy (Ph.D.)	16	128.00	8.00	16.00	34	72.00	2.12	9.00	50	200.00	25.00
Engineer's Degree	0	0.00	0.00	0.00	3	7.00	2.33	0.88	3	7.00	0.88
Master of Science (M.S.)	491	4,340.00	8.84	542.50	224	882.00	3.94	110.25	715	5,222.00	652.75
Engineering Certificate	0	0.00	0.00	0.00	9	32.00	3.56	4.00	9	32.00	4.00
Non Degree - Engineering	0	0.00	0.00	0.00	16	58.00	3.63	7.25	16	58.00	7.25
Total - School of Engineering	507	4,468.00	8.81	558.50	286	1,051.00	3.67	131.38	793	5,519.00	689.88

GRADUATE PROGRAMS 2017-18 ACADEMIC YEAR WINTER QUARTER 2018 Effective January 29, 2018

	I	FULL TIME STUDENTS				ART TIME S	STUDENTS		TOTAL STUDENTS			
	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	FTE	
School of Education & Counseling Psychology												
Master of Arts (M.A.) - Counseling	12	113.50	9.46	12.61	21	106.50	5.07	11.83	33	220.00	24.44	
Master of Arts (M.A.) - Counseling Psychology	170	1,575.50	9.27	175.06	141	769.00	5.45	85.44	311	2,344.50	260.50	
Master of Arts (M.A.) - Educational Administration	12	108.00	9.00	12.00	33	186.00	5.64	20.67	45	294.00	32.67	
Master of Arts (M.A.) - Interdisciplinary Education	0	0.00	0.00	0.00	9	48.00	5.33	5.33	9	48.00	5.33	
Master of Arts Teaching (M.A.T.) Multiple Subject	44	511.00	11.61	56.78	61	358.00	5.87	39.78	105	869.00	96.56	
Master of Arts Teaching (M.A.T.) Single Subject		531.00	10.84	59.00	49	278.00	5.67	30.89	98	809.00	89.89	
Abb Pre Tch Prg Cath Sch Multi	0	0.00	0.00	0.00	1	7.00	7.00	0.78	1	7.00	0.78	
Bilingual Cross-Cult Language Certificate	0	0.00	0.00	0.00	3	9.00	3.00	1.00	3	9.00		
Catholic School Leadership Certificate	0	0.00	0.00	0.00	1	3.00	3.00	0.33	1	3.00	0.33	
Clear Admin Services Certificate	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00	
Clear Teaching Certificate	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00	
Credential for 6+yrs Catholic Sch Teachers Certificate	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00	
MAT Clear Teach Cath Sch Teach	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00	
Preliminary Multiple Sub Teach Pro Cath Sch Teach Certificate	0	0.00	0.00	0.00	4	20.00	5.00	2.22	4	20.00	2.22	
Preliminary Admin Service Certificate	3	27.00	9.00	3.00	10	54.00	5.40	6.00	13	81.00	9.00	
Preliminary Single Sub Teach Pro Cath Sch Teach Certificate	0	0.00	0.00	0.00	2	6.00	3.00	0.67	2	6.00	0.67	
Non Degree - Counseling Psychology	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00	
Non Degree - Education	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00	
Total - School of Education & Counseling Psychology	290	2,866	9.88	318.44	335	1,844.50	5.51	205	625	4,710.50	523.39	
Total - Graduate Students	1,169	11,166.0	9.55	1,269.61	1,006	5,189.5	5.16	594.93	2,175	16,355.50	1,864.54	

1. Student full-time equivalency (FTE) is based on 8 units in the Pastoral Ministries program.

2. Student full-time equivalency (FTE) is based on 9 units in the MBA & MS programs. Student full-time equivalency (FTE) is based on 12 units in CAAP

3. Student full-time equivalency (FTE) is based on 8 units in the Engineering graduate programs.

4. Student full-time equivalency (FTE) is based on 9 units in the Education & Counseling Psychology graduate programs.